[ Efficiency vs vertpos |
0.5
P S N AU S

ertr

1072 101 1 10 0?
TP vertr (cr%)

—ehoC

11111

Icm%rég sratvector—teeeevt
ﬁs %%igﬁ 1RO TLIERS 1000evt
~ 0.1

L S

R S R S
>0.08------ e fedieean U b
& F . : . . .
D 0.07E v erbeeee oo b
90075 N . : : H
20,06 b S -
[} E : : : :

0.05;— ------ FRPEED ¥ A

I S ST (EEE

0.03E -+ woe- -t

0.02F "+ ----- :
0.0 oo +

1.0

Ratio

e

093~ =20 -10 0 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~0.05

>
80.045

£ : R
A S A S S S

4 6 8 10
Sim. PV z (cm)



	Contents
	Page 1


